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AR f(1.5)=—1.875 HER 1) fQHLEE KW (1.5)
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£8-1 HFEEMBHRER f0=x>+x*—-3x—-3=0

& R X, ZB%
x, x5 %3 f(x2) f(xa) fix) BRE

1 7 2 1.5 -4.0 3.0 -1.875 0.5
2 1.5¢ 2 1.75 —-1.875 3.0 0.17187 0.25
315 1.75 1.625 -1.875 0.17187...-0.94335 .. 0.125
4 1,625 175 1.6875 —0.94335 . .. 0.17187 0.40942 0.0625
5 1.6875 1.75 1.71875 -—0.40942... 0.17187...-0.12478 0.03125
6 1.71875 175 1.73437...-0.12478 ... 0.17187...-0.0219 0.01562
7 1.71875 1.73437... 1.72656 . .. 0.00781
© 1.73205... ~0.00000. ..
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#£8-2 HBMEMf0=x>+x?—3x-3 =0

LR Xy X2 X3 f(x)) f(x2) f(xy)
1 1.0 2.0 1.57142 -4.0 3.0 —1.36449 .
2 1.57142 2.0 1.70540 —1.36449 3.0. -0.24784
3 1.70540 2.0 1.72788 —0.24784 3.0 -0.03936
4 1.72788 2.0 1.73140 —0.03936 3.0 -0.00615
5 1.73140 2.0 1.73194*
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B 8-3 BSAHAKEMx: —c =0 ZHEH . E LR
B—EET BImRE TR

ER—M/NEB-

FIRHHER#ITH ZFORTRAN X REZBERAE
APPLE I iR WA LEMAT 88 HRRT ¢

H—-RBITH BAC =24 » €E=0.00001 > TiRHEZ
x = 4.899000

HoRBITE  RA c =65 €E=0.00001 »MRHEZ
x = 8.06226 ¢

A

A>TYPE NEWTON.FUR

£ NEWTON-KAPHEON METHOD FOR FINDING SQUARE ROOT
READ(1,2)C,E

2 FORMAT (ZF8.0)
Y=AES5(C)

10 WRITE(2,7)C

2 FORMAT (10X,4H C= ,F12.5:
IF (C) 11,12,11

12 WRITE(2,17)

$7 FORMAT (8H X= ZERO//)
GOTO40

11 © X=Y .

14 X= (XHX+Y) /(2. %X)
W=ABS ( (X¥X-Y) /Y)

; IF (W-E) 30,30, 14

o WRITE(2,50)X

50 FORMAT(10X,4H X= ,F12.5//)

40 STOP

END
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AXFS0 N,=NEWTON
$MAIN

=0

Link-80 Vers. 3.41

Copyright (C) 1980 by Microsoft
Created: 28-Dec-80

¥N,N/N
Data 0103 0257 < 340>

FORLIB RQUEST

-$6AB 0O1ESB -$DE 0206
-$I1 023D -BINIT 0163
-l 1 o1iDC -$MB O1FA
-SND 0240 -$ER2 014C
~$SE 021E -$ST 0243
-%T1 0224 -EW2 0232
~ABS 0212

13 Undetined Global(s)
29314 Bytes Free

¥FORLIB/S/E
Data 0103 1DFD < 7418>

FORLIB RAUEST
20856 Bytes Free

[O1SF 1DFD 291
A>
A>N
240.00001 -

C= ' 24.00000

X= 4.89900
STOP
AN

65. 0.00001

361
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C= 65.00000
X= 8.06226

STOP

fl: A EEMBRE » R FHHRBAE (0,1) BEIAK
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Az

A>TVFE HALF.FDR

c

¢ HALF INTERVAL RESEAFCH
Cc

READ(1,22)A,B,EPS
22 FORMAT (3F10.4)
PI=3.14159265
FA=EXP (-A)-SIN(PI¥A/2.)
FE=ExP(-B) -SIN(PI*B/2.)
WRITE(2,81)
FORMAT (SX, 1HI, 9X,4HX (1), 11X, SHSIN, 12X, SHEXP, 17X, 4HF (X2 /
I1=0
I=I+1
X=(A+B) /2.
EX=EXP (=X)
SI=SIN(PI¥X/2.)
F=EX-S1I
WRITE(2,99)1,X,S1,EX,F
9% FORMAT(1X,15,3F15.8,F20.8//)
IF(F)12,10,11 :
IF (F+EPS)3,10,10
(Fi{F-EPS)10,10,3
IF(F¥FA)S, 8,6
B=X
=0TO?
A=X
FA=F
GOTOY
WRITE(2,9)
FORMAT (14HA IS TRUE RODT)
O STOP
END
A>FB0 =HALF
SMAIN n
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Link-80 Vers. 3.41
Copyright (C) 1980 by Microsoft
Created: 28-Dec-80

¥HALF , HALF /N/
Data 0103 03AD ¢  &82>

FORLIB RRUEST

~-%AB 0321 -$DB 02C0
~%10 02F8 -$I1 0306
~$INIT O1EBSB -1 037D
-%MB 0350 -$NB 029C
-&ND 0392 -sR2 oi1c1
-%SB 0339 -$ST 0395
-$T1 0383 ~SW2 038F
-EXP 02A8 -SIN oz2cc

16 Undefined Global (s)
23756 Eytes Free

#FORLIB/S/E
Data 0103 2152 { 82717

FORLIB RGUEST
19900 Bytes Free

[O1E4 2152 331

A>HALF

.0 1:0 0.0001
I K(I) SIN EXP
1 .500000CD 70710477  .&0453067
5 * .25000000 38268346 .77880079
= . 37500000 ,55557024 .&8728930

F(X)

-. 10057610

. 392611733

.13171203
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4 .43750000 . 63439322 . 64564854 .01125532
S .46875000 . 67155892 . 62578404 -.04577488
6 .45312500 . 65317279 . 63563871 -.01753408
7 .44531250 . 64383149 . 634062405 -.C0320745
8 .44140625 63912439 .64313138 .00400698
? .44335938 . 64148098 . 64187652 .00039554
10 ,44433594 . 64265698 . 64125001 -.00140697
11 ,44384766 . 64206916 .64156318 -.0005059G
12 ,44340352 64177513 .64171982 -.00005S531
STOP
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